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(1) T9e! <&l T el = ST a9 qoh T JRehl &l @iert & |

(2) Riem % <RE Tene % U FE oft wifec ME, ANTRiH, FETS #1 TS, o gEiared a1 e
ifged, HeTed M, Hoaeier, TIE HURI, TSHMA A1 3 T IS0 W BT f qleneft o= o
ST |

(3) TET % SR IH H 1 KA, TS BT A GIAGSK & W 1 SearsH i, T o ST A7
ST |

(4) 99 e W gid ST (OMR SHEET) B 90 (T) e W {91 939 HoR wes 31aR § fafau |

(5) 3™9A(OMR SHEET) ¥ ff¥=d Sve & STermen goll SiTe 3 ok &l e § den 7ot Je=m -
fed 3171 i ot 9 @ 1 <t 7T 1 3HE ST g ot e A1 TeEE W e W S |l
T Y TR HAT ST |

(6) ITIA (OMR SHEET) & wamor U H wiefeff qen guarEsk < & g&der e € 1 S & s&aer &
o1 ST (OMR SHEET) 1 Heishd &1 g1 | 37d: STHIGAR bl YURATEoR o FEAIER o1 31am T |

(7) wRiemeft ren/Hen e 99 ITAN R Fehd | 3= T U A1 UFEe a1 RIS T TR TR Y Hehd
gl

(8) wwITH H fou 7u fasmedt # ferdht off yem o From & w2

(9) 3T YIS H FeT - 200 T § | T T FISW A, B, C 3R D H ¥ #E T § | 9t 7o & forw =R
forepea fau 7o & | @it woei & SR <1 eaferd 7
SETET : SR hi TSI 1 82
(A) TeH<E] (B) &R (O)FgeTR (D) drew
el ST (B) TR WE €1 @, OMR SHEET ¥ forehed (B) % Tiret =1 94 @ @t (Encode) &1 €11 |
A000

(10) 9 TE <TaTel %1 | (o) ek Tan S | Welieh TTefd SR o e 0.25 707 5o Sd (ifed 0.25) afg
IHICAR fordlt T97 1 ST T <A1 =18l df 3¢ fahed E T8¢ & g | foshed E & for wifea 7o =&t
RSl

(11) wie-Bie fhT TC IW 701 TH ¥ AR fThed H T IW T2 =1S, TR A1 TE 61 TN HL 95l §T
IW % faw 0.25 e i few SmdT |

(12) e quf €H & 99T SIS (OMR SHEET) S6feh GUaTE SR %l <1 o 915 &1 &l (CLASS ROOM)
Y e € | TE R i TR STGER e 3 faw s we S |

(13) =9 den =1 fawifa gmg 180 fafe 71

(14) Gaifere STgaa fashed i ST AT ST |
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10.

et fow T fereri =t e § Terd g i fou T e | © welt Stare J1d AT |
1. forsh Herd 58 S8 95 H 1% g1l

2. X1 Held 78 3. H Y& §3AT |

3. TTH 7T o1 I&STA 3195, Hgs ot |

4. A H HEQTH I shT JEAT 1192, HEg T |

FE

(A) 1 3R 2 (B) 3 3 4 (C) 1,233 (D) 1,2,3 31T 4

T 7 @ foret et ohi Sfear faferet afce 7 o Teteres Tiier o HTea™ | SeiRT i @i fopam?
(A) ofrmafes (B) o (C) AT (D) fa=

FrueT 1 feree foram?

(A) TSI TR (B) dfspm =iz destt  (C) AferefiRmor 0 (D) THTHATS THT * JIME”
1 9 @ 7 97 Ra & wferer o T ger sre He on?

(A) T TTEHE=E AT A uae, 1919 (B) & e T fea T, 1935

(C) T 3feem ST e, 1947 (D) W T & U off T

IR o EfererT | Eie)/ gam sl gfafy LIRS

(A) TTTEhet 348 (B)2Tféahat 358 (C)Tféehet 368 (D)3ATieshet 378

TR o Gl T i 9T TTeehel e Hidl & foh =eg o8 ¥ 7 37 o fhdt ot 5= ! forell
FHET AT @S H M F o fora et 72t fomam o = foredt 3= wames s & i e
S

(A)ATIEHe 24 (B) TTfdehet 45 (C)=féanat 330 (D)3ATiEHet 368
5T T TSTHTH TFE 2009 T H § HIErel o fordt S[¥ ol 7eg i o foTe oI mam 2
(A) 6 ¥ 14 | hl SR 6 el o feTq

(B) IS ST @it o fore

(C) o eft F%eh ST Sfiu=iees f3retr are Tt ok

(D) ST N qehiteht f3rerr o %o e &

I o Gferem o qga Fefefaa & & s 9 diferer dea T8 22

(A) TS H HAGH L o [Ty

(B) aTfes G farepfira svear

(C) BrasTfeh Huf 3 et o foTg

(D) G T UTe AT 3T S ST T TEHTT HEAT

TRA § S T3 o1 GerAT AT T YE TS |

(A) 31, 2015 (B) |, 2015 (C) W&, 2015 (D) SHadt, 2015
T o1 Tt (o ferarforemer shef 31 foparm i o 2

(A) SIETeT (B) STI® (C) TaeTg (D) TGS
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

frefafaa & & fore 7 Q1 ST ST Hehat ® 31T 21 7 foram S dehar 22

(A) it (B) YTfh (4TaR) (C) (D) Tl ( WHeH )
freafarfad & & i o1 shege & Ser i wurft w9 & wnfed w22

(A) ALU (B) CAChe memory

(C) RAM (D) ROM
frfafaa o @ o5 1 o= § o ST aia 27

(A) T (B) it (C) vttt Sret (D) aTsi Gfsstat
T STETSITd R H fohet =t ox feordt 22

(A) aTdt (B) THaT (C) T=/eA (D) F1adt

RTE Act 2009 31T 3 ST o STET, Srfieh fre & Yot I5eh! 30 % ATIR W &Il 2 36
ST % STTET 10 3 Y07 3 <oh sFoel bl foh & § oIS o=t ST el 22

(A) U=t et (B) 2 el (C) =eft e (D) YoreT &t firet wehar
RTE Act 2009 31ferfam st ey 21 & wrerer @ foh o™ fasmme s F AT AT ?
(A) forar fre wfurf (B) T werer wfufy

(C) dregent frer |t (D) Td f3reqt rfirm swrriers

FTEh! o el Tk Ue e o Wit staaiedie franfag i 2

(A) TUTSid T8 (B) . Wis &a

(C) frsyTs sreret (D) BT I

o T I §1 3TTo08 14 TH qoh o shoell o 11, :Y[eeh FRTET 3T ST hLdT 82

(A)FTTST 40 (B) 31T 45 (C)3FT=eT 50 (D) 3132 35

T eI TS o o o srfershem 311 €T ar 22

(A) 3299 (B) 38 % (C) 40 T (D) 35 a4

oo @t H e foha wee A4

(A) 389 (B) 545 (C) 250 (D) 166

STl ST TS O JTel st srear 2 .

(A) S ETHTIS-3ATTIe aramaer (B) sIgat Sl e

(C) ===t ot €1 115 i shi T (D) STIH Tft

freferiiaa # & forer =oT H SFeel S0 HeahHT 9T (SHaeEF) o Hishd Ha6 o SITd &7
(A) TRt (B) SR=haT (C) T IRIYF aWi § (D) =9I |

TS TSI T & 2

(A) haeT QTS STFEAT Sl FrrereT At 31e=

(B) et TTer shTet shl forareeT sht 31esee

(C) et =9 S oI 1 e

(D) e & foheTRrae deh oht fareiwaTsty o1 oTeeme
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24

25

26

27

28

29

30

31

ST HATTT o6 SATER T hi AT e 3UTh €7
(A) Teft ST=< ek S (TET) ® |

(B) F® el Toh S (FHM) ¢ |
ORESEECRE

(D) Tcdeh s AT ] |

TRrerent o foTe et forehrer o6 forfret =l o T H ST /il Hee ot &7

(a) TG 3T UG sl ITshaT o foTT Ueh STRIHETRI STATaRoT 2R S|

(b) ST= Sl TEETSAY ST ST 3T THST

() STl o TT THTel HT (FRITT) LTl

(A) FaeT a (B) el b (C) a 3T b AT (D) ST Tt

HITehT ST SR R SATET ST a1 HLell, Thel H g ST Ll gl IE SR @ 6 ...
(A) TS =l T Gl ST LA T HIHT a1 8

(B) ferereh =1 3TT97E & foh Sr==it bl Tehet & G STt shteAT <1feT

(C) 38 37T = forespet TeiE T2 &

(D) 35 foraml ot et & weftenrt forarm ST &

Ster o feferfiaa =ron 4 9, foredt saftn o ga8 ST=sT GHTSIeHRT e 8T 22
(A) TIEHAT (B) fohamrareen C)TaH & B awid (D) Star

Frefefad 5 & o0 ©t Uk = o ST foehte shi TEmd 87

(a) U@ (b) Teft (THER)  (c) et (d) Thet
(A) ¢ 3T d (B) a, ¢ 3 d

(C)a, b3 (D) SHITh § © whIE el

BT ol GG o 3T TTeT T8 e foR3 ST ek &
(A) Teft forat =t foreqa wmgm= &

(B) feren f3meqor Tk Al o ST o

(C) THI-THT T TIeqoT TR i &

(D) aTEdtereh Sfte sht feerfami 3 e o f31em =61 1S & |

T, Teh TSIt Rfarent, it off st o foreft ST ST 3aTT T 3131 o7 €T I 21 aclT| ek oIS, 78
311 feren ot T WEl ST e of ST & T8t I o o & Hie, THE § = i, 3T o1 8 <t 2
a8 Reqor o Fforfaa & & forw gfenton 1 sTeor s & 22

(A) FaaTe (forfoafee) (B) UHUTh

(ORUTHISIEIBITE)! (D) 378 @ ig T

71 1 @ T @ wagTe i foemem ¥ foxy anrem fean @ 2

(A) IR (B) Rt (C) W T4 (D) ST 278
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32 TS ohivsel 1RTeM o et gl oh wawd § Feferfiae s forer

fogia forgrear
1. T Ui 3R e o &9 4 (A) TSI doh-fardeh i 37T
T AT U e & Higd
2. afsra w-fafafa fren (B) 3T TERHH/5TfT o To-Heieh o g
IERIECHIEARS IEEIT
3. ol ol STEAT T S TR (C) g8l o Ty Wifereh foreii ot e
(AT AT S == T
4, ==t % e (i) sl Te (D) Tarea = fers=i/genmeart st s 37K
T T IESIEL R R R I RECE]
C D A B C D
(A) 4 2 1 3 B) 1 3 4 2
€ 3 2 1 4 D) 3 2 4
33 ool H 9 G i SR 37 [HeRTer sht 1T Bl ) 39 gfE & fRveren <t ikt £
et 2l
(A) T (FRIHoRY) ST AT (B) gfaremyarar (wfafeeer)
(C) fezren DEIGIED
34, U BT o ATtk TR 10 9 TR A 3T 12 9 3| SEehT TSR foheT THTT 2
(A) 80 (B) 100 (C) 120 (D) 140
35 IAfchal o slie oFTeRTTd Hwe fohereh T &1 Tehd 27
(A) 3Tk SfFE o s STHATATE (B) 3k AfFl & sfte THTATE
(C) 3o st gord (D) AT o s safehedl sh! ThEddT

36 Wi, U AU fRferen, 3 < for a7 St ueTd ® Ud Sk o S Hied § 36H AT fwar g1 at |itar
AR ...
(A) TRTeTor o5 Teh WHT Lok 2T UTeT ok dTfeh HE H STk e i g fohart <17 @ |
(B) BT o ToTT STeT-3TeiT Ted fog o |
(C) e H gorr o o s1o fRreaor # forfs=t wepr o St bt wmifiret L |
(D) 39 =T s s § far T 6L |

37 AT TS o STHTE i 60 G 1 fR17eh 6l T firehT gt =nfew?
(A) Treren o1 SafeRal il STavIRATS! o STTHR TTSTHH hl THRITSG i 1 ST BT =11y
(B) T3rerer =61 ST < eraraaty, Frgaret S (o= bt qHg T T KT =Ry
(C)THT A 3B
(D)TAAIRITIEB
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38 Ueh ool ohl WTHT o1 farehtdl T T T LT 2
(A) SifeTeR (B) Siferes ORILUSED (D) T Tt

39 GHTCH foehtE & a1 ¥ ffaRad @ & 6 |1 e w82
(A) & 3 TTiafarfert &1 Sffee T & S aRaie TEid € €t
(B) I8 T« HeAdT-FaIT & STel ol ol folforer 371 T, Tarerer fem S 2
(C) T HEANT hl T H SATHITA eI RRIT O 2ATereh T shise el 2l
(D) TE HFH T T I 7=t e U Tewie oy e udieqon o d=mer st Igar ar e |

40  HARA R IHAE ...
(A) HieT aread & gifeet foram e @ fof 72 e gifea s |
(B) IE S o sT=df T R e 2 2
(C) Ig M o id & FraT SITaT 2 |
(D) T1E fRrereh ST s 18 3ohTS o1 STaTharail bl I T aTelt Sexadul Tafafer 2 |

41 fr=fafaa @ wim arHam w22
(A) TEHITCH (FRHTEE) Tedtieh ArTTesh (ufed)+ft a1 wshar 2 |
(B) AN (FHTEE) HedTeh TaTcHsh (BRATCH) Haieh ST SaT9eh 81 € |
(C) TEFTCHe: (IS AT ST TRTIH (FHTE) Aot oh o< g & shis 3 2 |
(D) STIH @t |

42 T AT qeAieh (SBA) TS # |
(A) e | HiHt 1 fee e
(B) 3o SU=RIcHe: SUT i
(C) HEH % I 3T GeAdTSl h! AR frehfed
(D) SUIH Teft

43 TeAfeTad o & S 3t o I s o6t fafre fomar 72 &2
(A) 38 T I & | H&H ST =TT |
(B) I sht ©r o fareaeff st ffr foram stmm =nfzw |
(C) I fameeff g fea S =nfe, foremedt & & =rafaa ==t |
(D) IHITh § § IS T |

44 dita, drfehes G AT AT &THAT ST} ffITS eamsty 37T siwret o foT STa1 sl &7t 1 STehet
T % foTT wer qdieror s ESIGIR

(A) SuAfse qiteqor (B) Jr=IT gteqor

(C) 1ITed Trear (D) T&TaT (ST ITa-) uieror
45 TrAfRad § & S &1 U SEiE T 82

(A) HEUTHFR YT (B)TEIWETH  (C) AH USS I (D) ¥ A1 TTeTd
46 diwa o e formes g few w9

(A) U (B) fmpk (C) dHeTssH (D) e
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47

48

49

50

51

52

53

54

55

STA-ehisd hedT §, sodf ST aR WHEd ...

(A) T&7 &0 ¥ e | (B) SATHTd ®9 ©

(C) AT &9 & 3 Fwel § (D) ¥Rl H

FHET H T TS Ttk ST /ST TohAT ST HehelT 272

(A) ¥ & (B) ST (OEIERIECIE] (D) STk T+t
e o FoTT Yg@Tenton shi ST U1 i Tel Teed SHAHTERT A1 i o 2

(A) s .uw. T (B) 3. TS, oHeR®

(C) ficraifeeh (D) 5 & 1 e

T RTeTh Ua W18 S et ST Aot 3h! e Qe T STRANT LT @ ST 3T BTAT oh Gr ==l Ll
31 B foraoit 7 3179 el I & Sed & A dror Y syaremon digd 2| 7 gy w amanfa 2. .
(A) I =1 fmfor

(B) HreH i el st

(C) T 1 frgia
(D) e &I Tareteh () ST

TRrereh ot off A o1 IR & ET <TIerE 3T BT i I G, HE =il Bt ST FeanTIensh e
T o ToTe Tieefed st 21 I gfvehior & firgia e |

(A) TfshT aTfieRy

(B) fateror @it b1 Sfera waa

(C) Ueh 31=3T STET0T TATY SHTAT 3T Teh UeA-HISA T

(D) T o foTu et

THHTE 2005 F HATAR, AT HEeqol € FMF S ...

(A) BT TIPS FIA FoRT H SThd FT H Toh HEAY0! ITHT ¢ |
(B) T31879R o s==il bt Sl T Ueh ishT Y& aT © |

(C) =< &l A9 T STAgE Y& i T T TeaH- H Hag i |

(D) % sFedl ! &l ¥ & o [T 7T J&H |

THHITE 2005 o STTAR T TR187eh i firehT @ g =nfen?

(A) THTE (B) I

(OF:ERISEED (D) ATferRTE

feifoder sieter o s H i a1 foehey 9= 22

(A) 37! et T qehefi® BT 2 | (B) 3T TSR 60 ¥ f grar 2 |

(C) 37! I&RT o Heltl hl qeheliB &I € | (D) 3Fh! YA o Gie H et Blell € |

feregeor formem s feremar foram fomarm oo
(A) ferrie wrre (B) 24 31158
(C) AT (D) Tee
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56.  TH UGl shi ST ek &1 175 el <hl 01 shife(y|
1, 4, 27, 16, 7, 36, 343
(A)25 (B) 87 (C) 120 (D) 125

57. T &I I T Fleh a1 713 e hl G HITST |
2, 5,9, 2, 20, 27
(A) 14 (B) 16 (C) 18 (D) 24

58. T H ST UG i |7 T 2
YEB, WFD, UHG, SKI, ?

(A) QOL (B) QGL

(©) TOL (D) QNL
59. gdeh : T<Id :: I8 : ?

(A) Tfshr (B) frummsen

(C) "vg (D) I
60.  =eReie & fore Hiar Jar & & S fo feramer & T

(A) XTSRRI (B) GEHTC

(C) sTaTgFAdifea (D) TeeTd
6l. T 163 T I THE o 3T I[oa| H FHH-H-FHH Hel Wl 2|

(A) ST& (B) IX

(C) s (D) =fret
62.  FeR o1 o8 T T S g8l § fuT

(A) POCG (B)KLIZ

(C) BUDX (D) FQMV
63. XY o1 a3 g€ e, “ag HX frar ok fram ot diedt s afa 817 Y & X o s R d?

(A) 9IS (B) STt

(C) T (D) EMTE

64. <2 ST HH 14 i |

11 12 14 | 10
78 ?
(A) 74 (B) 84 (C) 94 (D) 104
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65. *2° ST | J1d HIFST |

1
4
7

27 38

2
5
8

DO N W

(A) 49

66. BT ASHI P, T, N, D, Q 3 R H HI¥ &l hiA 7

P, D 3 N @ e & Aferd T St oo 72 @
R, Q & e & wfer T fSfaT e 7€ 2

Q, T IR Y v &l &
(A) Haa [ SR

(C) Faat I I
67. TS HATHIT H =S shl HEAT T shiST)

L
II.
III.

(B) 50

(A) 6
68. a1 TS 2 H SHHTT : AT SThid gfe |

(B) 7

(©) 51

(B) haet 11 3R 111
(D) &t I, 11, 111

() 9

A A
/\ /\A A/A\ /A\
%k %k k *kkk %k K L X

1 2 3 4

A

A\

(A) L*
69. TS 2 § ST ; AT TR e |

A

ay

(B) L&

- {jic

1

|COC

(A)

DO
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(D) 52

(D)

(D)

(D)

11
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70. 3T TS 2T H ST : AT ST GIeT |

Ol10|©|@
©

(A) (B) © (D)
71, ‘Elall’ aoel 1 {12 Usl s 69 ?

(A) 2418 (B) 5143 AAAIRL

(C) 4 Hlcll (D) aslelR

72, N uulRiE Yy A Sy, dlsaiel idl Al - asaml 56 Qe auid © ?
(A) gdlar [Qeifsa (B) wél [Aci(sal (C) UMl [Aeilsa (D) Al [Qeilsa

73, wUUAl alsAMl Aedae disd sy o ?
(A) Yl Al 51 udl, €4 Aa e o dI2
(B) Ul A2 5165 uell, d a oide IR
(C) Y12 [ 51 uell, du A ag'q dI2
(D) Ylot Al 515 ull, €4 Aa a1 dIR

74, Gel RafaA GaaHil iedl Aiviall Udls dZls Y’ Al GUULDL UL sl UL €9 ?

(A) Asale My (B) 9wl

(C) arui aisledl Glayl (D) AlelHIHL
75, A ydl 3uadlonl 21 9 a1y ?

(A) M Rl (B) Heg sdl (C) 2™, iadl (D) 813 ¢l
76. A2 UL s Ag A D ?

1. 1[B19i52 1w M2 2. ‘4ug]

2. 2ldlaisR Al o, ‘slvt’

3. %9052 IS 5. ‘Yedl’

4. [Aareld geiR 3. ey

(A) (1-21), (2-01), (3-9), (4-3) B) (1-a), (2-5), 3-3), (4-2)

©) (1-%), 2-0), (3-3), (4-21) D) (1-06), 2-21), (3-%), (4-3)
77. <12 U4 sul w0t ‘Gt aoe-l ALl Al ?

(A) YaR1AY (B) Guildg,

(C) 3d1a4, (D) ¢33,
78. ‘MRl stedl AU UsIR sUL Y ?

(A) Q51 (B) di-e

(C) 2i9ieA (D) Ut
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79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

“Wldl stel slas Al g9 ?

(A) ‘st (B) dey

(C) Mausted HBAIR (D) SxxdsHIR Blael

{12 U5l 202l Aell 55 ?

(A) 25322 (B) 253 (<22

(C) 2US342L (D) 253212

Al Al e suL steideHiYl dldl ¢ ?

(A) ‘ga’4idl (B) ‘elltd’nidl

(C) ‘sHuHil (D) ‘yaleuw+idl

{12 04l ] el 55 ?

(A) Gegud (B) Gagud

(C) Guva (D) Gaguid

‘WAl 0e-l [AR1H] 242 HR1AdL 308 5216 ?

(A) AYu (B) $ul

(C) Aag4l (D) 1%

“WESIH Scle dl Gl M2 Ul USG vd. AlsuHl dldl el 26eL SEAUSIR FRuLlL.
(A) Aolns st (B) Alamged

(C) ad™ised (D) dcael 58

‘o3[RUld 53l af UG o AL 9 A4 Hiel ulet 529 d’ AeLAE HIS Vs A6 ML
(A) 2l (B) 224

(C) »uRus (D) Ralesid

poor in study Ritesh is, he will not copy answer from his neighbor.

(A) However (B) So

(C) Though (D) As

My house is located the school. (Put proper preposition)
(A) beside (B) besides

(C) by (D) above

“Do you want to travel by the main train?”” Turn into indirect.
(A) The clerk asked did he want to travel by the mail train.

(B) The clerk asked if he want to travel by the mail train.
(C) The clerk asked if he wanted to travel by the mail train.

(D) The clerk asked if he did want to travel by the mail train.

Dhyani sings as if she Sunidhi Chauhan.
(A) were (B)1s
(C) was (D) will be
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90.

91.

92.

93.

94.

95.

Darshan is cleverer than
(A) any
(C) rest of

other boys in the classroom.
(B) most
(D) so many

An act of acknowledging an achiever is called
(A) facilitation (B) felicitation

(C) euphemism (D) confrontation

Change the voice: Which player hits the wicket in every over ?
(A) By which player does the wicket hit in every over ?

(B) Which player is hit wicket in every over?
(C) Which wicket is hit by the player in every over ?
(D) By which player is the wicket hit in every over ?

Choose the correct sentence.
(A) Ours is a new house.
(B) A new house is our.

(C) Our house are new.

(D) Ours are new house.

Change the narration.
“I’ll have cup of coffee.” My elder brother said, “because I’'m not hungry.”

(A) My elder brother said that I would have a cup of coffee because I wasn’t hungry.
(B) My elder brother said that he would have a cup of coffee because he wasn’t hungry.
(C) My elder brother said that he will have a cup of coffee because he wasn’t hungry.
(D) My elder brother said that he would had a cup of coffee because he isn’t hungry.

Choose the correct option.

A B
1. contour a. smell
2. savour b. eat
3. devour c. spoil
4. defile d. in curve
(A)l-a, 2-b, 3-d, 4-¢
B)1-d, 2-a, 3-b, 4-c¢
(C)1-b, 2-¢, 3-d, 4-a
(D)l-¢c, 2-a, 3-b, 4-c¢

ECONOMICS (A)

(13/16)



96.  Choose the proper question tag.

Sumit cuts a delicious cake on his birthday, ?

(A) doesn’t he (B)isn’t he

(C) wasn’t he (D) didn’t he
97.  Choose the correct spelling.

(A) potppori (B) potpourri

(C) pottpourri (D) potpouri

98. Select the word that is different from the other three words.
tranquility, serenity, calmness, restlessness

(A) calmness (B) tranquility

(C) restlessness (D) serenity

99. grazing in the field.

(A) One of the deer is
(B) One of the deers are
(C) One of the deer are

(D) One of the deers is

100. Select one word for the following sentence.
A medical practitioner specializing in the diagnosis and treatment of skin disorders.

(A) Misogamist (B) Pediatric
(C) Ophthalmologist (D) Dermatologist
L 2 2 2
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